District School Board of Pasco County Bid Recommendation

Bid Title	Grounds Maintenance – JIEC, SOES, WGES	Number of Vendors Notified	261
Bid Number	13-004-VJ	Number of Bids Distributed	35
Date Solicited	May 21, 2012	Number of Vendors Bidding	11
Date Opened	June 27, 2012	Number of Formal "No Bid" Responses	0
Date Board Presentation	July 31, 2012	Funding Source	General Funds
Total Savings	\$13,574.10	Grand Total of Bid	\$38,090

Recommendation:

Recommend acceptance of bids as noted on the attached tabulation sheet from the most responsive, responsible, lowest, and best vendors meeting written specifications.

Term of Contract:

This is the first year of a three-year bid, renewable annually by mutual consent of both parties. The first year of the bid will begin on August 1, 2012 and end on June 8, 2013. Upon mutual consent of both parties for annual renewals, subsequent years will begin on June 9 and end on June 8.

Notations and Exceptions:

This is an "all-or-none" per project bid for grounds maintenance at James Irvin Education Center, Seven Oaks Elementary School, and Watergrass Elementary School.

The total savings was determined by averaging all prices and deducting the awarded bid per project and then totaling the project savings.

Offers from the vendor listed herein is the only offer received timely as of the above opening date and time. All other offers submitted in response to this solicitation, if any, are hereby rejected as late.

Bids Evaluated By:

Edward Flicker, District Custodial Service Coordinator

Bids Prepared By:

Vickie Jones, Interim Buyer

The we the Reviewed and Authorized By: Kendra Goodman, CPPO, CPPB, Purchasing Agent

Date/Time: July 24, 2012 10:51:00

BID NAME: Grounds Maintenance - JIEC, SOES, WGES		-	American A-Team Lawn & Landscape Lawn Service,			Barick Land Management		Central Florida Landscaping, Inc.	
BID #: 13-004-VJ		6188 3rd Ave. S. St. Pete, FL 33707		8610 Jolly Roger Dr. Hudson, FL 34667		14803 Claredon Dr. Tampa, FL 33624		6109 Orient Rd. Tampa, FL 33610 P 813-623-1771	
BOARD APPROVAL: July 31, 2012									
			P 727-381-2050		P 727-868-7202		03-7758		
		F 727-3	81-5087	F 727-8	63-7788	F 813-9	61-0756	F 813-6	20-3385
Project A: James Irvin Education Center									
Service	Quantity								
Mowing, weeding & string trimming	38	NB	NB	\$0.00	\$0.00	\$200.00	\$7,600.00	\$189.00	\$7,182.00
Edging	38	NB	NB	\$0.00	\$0.00	\$60.00	\$2,280.00	\$42.00	\$1,596.00
Hedge trimming (Annual basis)	1	NB	NB	\$9,060.00	\$9,060.00	\$0.00	\$0.00	\$1,293.00	\$1,293.00
Pruning (Palms)	2	NB	NB	\$0.00	\$0.00	\$0.00	\$0.00	\$62.50	\$125.00
Pruning (Non-Palms)	1	NB	NB	\$0.00	\$0.00	\$500.00	\$500.00	\$0.00	\$0.00
Mulching	2	NB	NB	\$0.00	\$0.00	\$325.00	\$650.00	\$252.00	\$504.00
Mow and trim one 15-acre and									
two-1 acre ponds including bottoms	25	NB	NB						
Total		NB	NB	\$9,060.00		\$11,030.00		\$10,700.00	
Additional mulch applicati Per cubic yard price instal		N	IВ	\$50.00		\$65.00		\$42.00	
Cost for bedding areas added at a based on incremental 10' x 10' area		N	IB	\$50.00 \$65.00		5.00	\$50.00		
Project B: Watergrass Elem	entary								
Service	Quantity								
Mowing, weeding & string trimming	38	\$0.00	\$0.00	\$0.00	\$0.00	NB	NB	\$224.25	\$8,521.50
Edging	38	\$0.00	\$0.00	\$0.00	\$0.00	NB	NB	\$70.25	\$2,669.50
Hedge trimming (Annual basis)	1	\$24,000.00	\$24,000.00	\$29,760.00	\$29,760.00	NB	NB	\$10,155.00	\$10,155.00
Pruning (Palms)	2	\$0.00	\$0.00	\$0.00	\$0.00	NB	NB	\$175.00	\$350.00
Pruning (Non-Palms)	1	\$0.00	\$0.00	\$0.00	\$0.00	NB	NB	\$0.00	\$0.00
Mulching	2	\$1,800.00	\$3,600.00					\$1,218.00	\$2,436.00
Bush hog field	4	\$0.00	\$0.00					\$0.00	\$0.00
Total		\$27,600.00		\$29,760.00		NB NB		\$24,132.00	
Additional mulch applications Per cubic yard price installed:		\$40	0.00	\$50	0.00	N	īВ	\$42	2.00
Cost for bedding areas added at a based on incremental 10' x 10' area		\$40	0.00	\$50	0.00	N	ΙΒ	\$50	0.00

BID NAME: Grounds Maintenance - JIEC, SOES, WGES			rolve Professional andscape Mgmt. Freedom Lawn Care		Heredia Services		Mendez Landscaping & Tree Services		
BID #: 13-004-VJ		PO Box 2362 Bartow, FL 33831				8610 Barkwood Pl. Tampa, FL 33615		4627 Byerle Cir. Tampa, FL 33634	
BOARD APPROVAL: July 31, 2012									
		P 863-585-5382				P 813-770-6469		P 813-5	69-8763
			F 863-223-0275				48-1763	F 813-4	43-6326
Project A: James Irvin Education Center									
Service	Quantity								
Mowing, weeding & string trimming	38	\$0.00	\$0.00	NB	NB	\$239.00	\$9,082.00	\$200.00	\$7,600.00
Edging	38	\$0.00	\$0.00	NB	NB	\$0.00	\$0.00	\$35.00	\$1,330.00
Hedge trimming (Annual basis)	1	\$20,000.00	\$20,000.00	NB	NB	\$0.00	\$0.00	\$100.00	\$100.00
Pruning (Palms)	2	\$0.00	\$0.00	NB	NB	\$0.00	\$0.00	\$0.00	\$0.00
Pruning (Non-Palms)	1	\$0.00	\$0.00	NB	NB	\$0.00	\$0.00	\$0.00	\$0.00
Mulching	2	\$0.00	\$0.00	NB	NB	\$0.00	\$0.00	\$140.00	\$280.00
Mow and trim one 15-acre and two-1 acre ponds including bottoms	25	\$0.00	\$0.00	NB	NB	\$0.00	\$0.00	\$45.00	\$1,125.00
Total		\$20,000.00 NB NB		NB	\$9,082.00		\$10.4	35.00	
Additional mulch applicati	ed:	\$10	0.00	NB		\$50.00		\$40.00	
Cost for bedding areas added at a based on incremental 10' x 10' area		\$10	0.00	NB		\$50.00		\$50.00	
Project B: Watergrass Eleme	entary								
Service	Quantity								
Mowing, weeding & string trimming	38	NB	NB	NB	NB	\$300.00	\$11,400.00	\$300.00	\$11,400.00
Edging	38	NB	NB	NB	NB	\$100.00	\$3,800.00	\$65.00	\$2,470.00
Hedge trimming (Annual basis)	1	NB	NB	NB	NB	\$3,000.00	\$3,000.00	\$2,250.00	\$2,250.00
Pruning (Palms)	2	NB	NB	NB	NB	\$400.00	\$800.00	\$300.00	\$600.00
Pruning (Non-Palms)	1	NB	NB	NB	NB	\$150.00	\$150.00	\$100.00	\$100.00
Mulching	2	NB	NB	NB	NB	\$750.00	\$1,500.00	\$600.00	\$1,200.00
Bush hog field	4	NB	NB	NB	NB	\$300.00	\$1,200.00	\$30.00	\$120.00
Total	·	NB	NB	NB	NB	\$21,850.00		\$18,1	40.00
Additional mulch applications Per cubic yard price installed:		N	ΙΒ	N	ſΒ	\$50	0.00	\$40	0.00
Cost for bedding areas added at a based on incremental 10' x 10' area		N	īВ	N	ſΒ	\$50	0.00	\$50.00	

BID NAME: Grounds Maintenance - JIEC, SOES, WGES			ural andscaping		he Man	Your Environmental Solutions 7222 Jason Dr.		
BID #: 13-004-VJ		PO Box 1678 Lutz, FL 33647		9406 Hwy.	92 E., #109			
BOARD APPROVAL: July 31, 2012				Tampa, FL 33610		Zephyrhills, FL 33541		
		P 813-9	49-4933	P 813-3	81-5133	P 813-355-1334		
			F 813-949-1391		27-4874	F 813-782-9363		
Project A: James Irvin Education	on Center							
Service	Quantity							
Mowing, weeding & string trimming	38	\$140.00	\$5,320.00	NB	NB	\$0.00	\$0.00	
Edging	38	\$25.00	\$950.00	NB	NB	\$0.00	\$0.00	
Hedge trimming (Annual basis)	1	\$1,150.00	\$1,150.00	NB	NB	\$12,000.00	\$12,000.00	
Pruning (Palms)	2	\$0.00	\$0.00	NB	NB	\$0.00	\$0.00	
Pruning (Non-Palms)	1	\$120.00	\$120.00	NB	NB	\$0.00	\$0.00	
Mulching	2	\$180.00	\$360.00	NB	NB	\$0.00	\$0.00	
Mow and trim one 15-acre and two-1 acre ponds including bottoms	25	\$80.00	\$2,000.00	NB	NB	\$0.00	\$0.00	
Total		\$9,900.00		NB NB		\$12,000.00		
Additional mulch applicati Per cubic yard price install		\$40	0.00			\$50.00		
Cost for bedding areas added at a based on incremental 10' x 10' area		\$12	2.00			\$50.00		
Project B: Watergrass Elem	entary							
Service	Quantity							
Mowing, weeding & string trimming	38	NB	NB	\$425.00	\$16,150.00	\$0.00	\$0.00	
Edging	38	NB	NB	\$105.00	\$3,990.00	\$0.00	\$0.00	
Hedge trimming (Annual basis)	1	NB	NB	\$350.00	\$350.00	\$38,000.00	\$38,000.00	
Pruning (Palms)	2	NB	NB	\$450.00	\$900.00	\$0.00	\$0.00	
Pruning (Non-Palms)	1	NB	NB	\$100.00	\$100.00	\$0.00	\$0.00	
Mulching	2	NB	NB	\$300.00	\$600.00	\$0.00	\$0.00	
Bush hog field	4	NB	NB	\$150.00	\$600.00	\$0.00	\$0.00	
Total		NB	NB	\$22,6	590.00	\$38,0	00.00	
Additional mulch applications Per cubic yard price installed:		N	IB	\$5:	\$55.00		0.00	
Cost for bedding areas added at a later date based on incremental 10' x 10' area per month		N	ΙΒ	\$55	5.00	\$50	0.00	

BID NAME: Grounds Maintenance - JIEC, SOES, WGES		American Lawn & Landscape		A-Team Lawn Service, Inc.		Barick Land Management		Central Florida Landscaping, Inc.		
BID #: 13-004-VJ		6188 3r	d Ave. S.	8610 Jolly	8610 Jolly Roger Dr.		14803 Claredon Dr.		6109 Orient Rd.	
BOARD APPROVAL: July 31, 2012		St. Pete,	FL 33707	Hudson,	FL 34667	Tampa,	FL 33624	Tampa, FL 33610		
		P 727-3	881-2050	P 727-8	668-7202	P 813-5	03-7758	P 813-6	23-1771	
		F 727-3	881-5087	F 727-8	F 727-863-7788		61-0756	F 813-620-3385		
Project C: Seven Oaks Elem	entary									
Service	Quantity									
Mowing, weeding & string trimming	38	NB	NB	\$0.00	\$0.00	\$300.00	\$11,400.00	\$238.25	\$9,053.50	
Edging	38	NB	NB	\$0.00	\$0.00	\$50.00	\$1,900.00	\$56.00	\$2,128.00	
Hedge trimming (Annual basis)	1	NB	NB	\$14,040.00	\$14,040.00	\$0.00	\$0.00	\$3,153.00	\$3,153.00	
Pruning (Palms)	2	NB	NB	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	
Pruning (Non-Palms)	1	NB	NB	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	
Mulching	2	NB	NB	\$0.00	\$0.00	\$325.00	\$650.00	\$294.00	\$588.00	
Bush hog field	4	NB	NB	\$50.00	\$200.00	\$0.00	\$0.00	\$448.50	\$1,794.00	
Total		NB	NB	\$14,2	240.00	\$13,9	50.00	\$16,716.50		
Additional mulch applications Per cubic yard price installed:		N	√B	\$50.00		\$65.00		\$42.00		
Cost for bedding areas added at a later date based on incremental 10' x 10' area per month		Ν	NB	\$50.00		\$65.00		\$50.00		

BID NAME: Grounds Maintenance - JIEC, SOES, WGES			ofessional pe Mgmt.	Freedom Lawn Care		Heredia Services		Mendez Landscaping & Tree Services		
BID #: 13-004-VJ		PO Bo	x 2362			8610 Barkwood Pl.		4627 Byerle Cir.		
BOARD APPROVAL: July 31, 2012		Bartow,	FL 33831			Tampa,	FL 33615	Tampa, FL 33634		
		P 863-5	85-5382			P 813-7	70-6469	P 813-569-8763		
		F 863-223-0275				F 813-4	48-1763	F 813-4	43-6326	
Project C: Seven Oaks Eleme	entary									
Service	Quantity									
Mowing, weeding & string trimming	38	\$0.00	\$0.00	\$12,340.00	\$12,340.00	\$360.00	\$13,680.00	\$340.00	\$12,920.00	
Edging	38	\$0.00	\$0.00	\$0.00	\$0.00	\$25.00	\$950.00	\$45.00	\$1,710.00	
Hedge trimming (Annual basis)	1	\$1,000.00	\$12,000.00	\$0.00	\$0.00	\$50.00	\$50.00	\$40.00	\$40.00	
Pruning (Palms)	2	\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$100.00	\$40.00	\$80.00	
Pruning (Non-Palms)	1	\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$50.00	\$40.00	\$40.00	
Mulching	2	\$600.00	\$1,200.00	\$1,000.00	\$2,000.00	\$150.00	\$300.00	\$130.00	\$260.00	
Bush hog field	4	\$250.00	\$1,000.00	\$0.00	\$0.00	\$200.00	\$800.00	\$30.00	\$120.00	
Total		\$14,2	200.00	\$14,3	\$14,340.00		\$15,930.00		70.00	
Additional mulch applications Per cubic yard price installed:		\$10	0.00	\$60	0.00	\$50.00		\$45.00		
Cost for bedding areas added at a later date based on incremental 10' x 10' area per month		\$10	0.00	\$60	0.00	\$50	0.00	\$50	\$50.00	

BID NAME: Grounds Maintenance - JIEC, SOES, WGES			ural andscaping	_	he 'Man	Your Environmental Solutions		
BID #: 13-004-VJ	PO Box 1678		9406 Hwy. 92 E., #109		7222 Jason Dr.			
BOARD APPROVAL: July 31, 2012		Lutz, FL 33647		Tampa,	FL 33610	Zephyrhills, FL 33541		
		P 813-9	49-4933	P 813-3	81-5133	P 813-355-1334		
		F 813-9	49-1391	F 888-527-4874		F 813-782-9363		
Project C: Seven Oaks Eleme	entary							
Service	Quantity							
Mowing, weeding & string trimming	38	\$140.00	\$5,320.00	\$350.00	\$13,300.00	\$0.00	\$0.00	
Edging	38	\$40.00	\$1,520.00	\$0.00	\$0.00	\$0.00	\$0.00	
Hedge trimming (Annual basis)	1	\$1,150.00	\$1,150.00	\$400.00	\$400.00	\$12,000.00	\$12,000.00	
Pruning (Palms)	2	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	
Pruning (Non-Palms)	1	\$100.00	\$100.00	\$0.00	\$0.00	\$0.00	\$0.00	
Mulching	2	\$900.00	\$1,800.00	\$0.00	\$0.00	\$0.00	\$0.00	
Bush hog field	4	\$250.00	\$1,000.00	\$0.00	\$0.00	\$0.00	\$0.00	
Total		\$10,890.00		\$13,700.00		\$12,000.00		
Additional mulch applications Per cubic yard price installed:		\$40).00	\$55.00		\$50	\$50.00	
Cost for bedding areas added at a later date based on incremental 10' x 10' area per month		\$12	2.00	\$53	5.00	\$50.00		